-----

L LI ]

i AL BB
(a5 o 1+ Evie= g4
j15-17 9 14 : aAxie s (MY
i

s D) IS 5L ﬁr.i_J @xi8:234

19-21 ] f _”_fﬂ frioepof

2124 5 _er Seid =D
S I -

23-26 e 2i Mezut= ag,

LIodalt > [ HOGE

— ]

e fewow,

| Joks2T |

rr&jVTLM_E*.E_ﬂ,-_ Ta dindt, value of £

b oL

720 -7ous 204-18¢

~p If= ToYriof
] : #ﬂ*ﬂr""—f'

_ e=2f

L m*ﬂl




e ——

™
- A AB= i
} : as” Quy C~ boat )
/, et
. — /, D2 kvt 2.
| b B v T find: LD on o
= Pl e
:Tid-*- w‘“' ¥ '_ﬁ?r.

e [ghglu_ ¥
.ﬂi&ﬁ.g:_%‘—ﬂaaw m;+.___%
el .~ PN o
(s b x vid
L o | Gae 1
- leas+d= Iopfa.

= o= looli-kes. = los [J2-))

| g

_niyes Ja= 1732,

# d= Iun{t 7234)

= |oax g.7 = 73-2m




__3 21}' Tn me ;;hﬁ - Esll_r'jﬂ

= fomA-:
i ﬂ”‘ 2Cec?A - coxh
| f{ Simpliyimy LHS:
|| sl - 2sin’h
| Eu:’ﬂ-—urﬂ
N - Einft (|__;,. -l'ﬂ}

Ceg (E:.n;'ﬁ =)
cindl [J— (2ein'A)

1l
1 —— H
m—— S—— '

= o%A | leoa'A -\
3 1l = Smf E‘i&'m cot*A ~2an'A f SintA 4eot?n ;;:!'
A CoSA | 20014 — [einta4conta
' | = SinA [tﬂ:‘q 15_.,;_,,-1;]
= Lotp coptiA ~Sin
p | =] E:::; ﬁ!i

7 : U < ‘7‘ 293 ;7’ “A pp for Y GET IT ON
Class 10 | JEE | NEET



https://urlzs.com/NqoXE

A e —

i

[)Given, metal pucket chaged [ke {hustum of Cone.

\ Dimensions: height-= 24 e (h]

™

|
e

\ : )

1

%_Mh « 30 Ejn =5 hﬂﬁ_u,.!-‘ - Ig t-'l"'_&;'i

/ 756m

To fimd £: £ Jh?4 (P12 unite.

= JeH®s [15-5)* cm

= 15?‘*‘ ot - "l

e e

L= 2Ccm.

= Je7e a—

=) C5A= T (R+A)E  sq. umite

= 3.\t (1845) xxf_?,,-- St
=3 Mxao g 35 -

lﬁ & _%HLI ot




llllllll

MNe kviow, Anea of theulan bate = XMn?* 59 wnrr.
- F'l-‘.n.uﬂ.m 2lYxExs =0 L
= 1. I-'-mma

__:n-r"' .

Total gnea st sheet = Cumved anea + Cingulon bare areq
= (6%2.8 + 985  tm?

 _Pwen = _tm? T

i) Plashe b b'ﬂkt‘-h ahe les? preftrable 40 wmelal buckels becawse platht buclkets

=
iy

onea of Gheet weaded B 17113 cpm’d

Are  paohe _EMD{!'F&I_:/'EBA‘J'./\E:#. ghvitphraphl - They pay ale |€ak . hanméd chemial
inko ke aler Leing storea.

__EEMMHE._ amrt
% --blﬁl.a...,‘rhﬁ
Beoat = § lr‘t-'-?Htr- | ‘*l"' ed)
— ?nh-—\. — e — h}

]e f 5:, GETITON
Google Play

Class 10 | JEE | NEET



https://urlzs.com/NqoXE

Oriven -.IEBf'

|| Speed of beat = Blw/hn m SHil waler.

Speed of sineam =5 [voniove, wus finol)
Oistamee upsitean & back= 24 k.

Time up.w_-m:_l._l‘m_:mh-_ﬂm e downstheans .

24 (18+5) = G248)(18-5)
 432¢M5 = 7564 185-42s =67

| e know, speedtc Distance _ Time s Pistance E
I
. 2 -,.mﬂml_%
Time._upsinesms 21 _*_?ﬁa 2
- 21 _ i+ 2% =
188 [le4s-

29 _ g 1

- 4 [B=5  |84%- 4 -Ewmﬁﬁj i

_em 5742454245 $432-75C =

s2+qise (=124

$*454s-as ~324-0 .

gleasa) 6 s45%) =p.

o (56 (e84




1 S

@f Dis a mint oh BC such Jhaf D=l BC:
| To_proves Q)= 200

Construchon: Praw AELBL.
Proof. Let Bp= 5'57/’ >

26| Chiven: A\ s oquilaforal: | J_IRg

- AR=BCCA, [fh= (BrlL= 6T

P

5 8
“E

5 W/
: wSaral
] i g
Now , eidhen S4£=0 = Oh. 5+5& =D, o 3 i e
e B AG=2g 7 ==~ = e
 So speeit= @ on =59 kpm/bn. A 1
e ____But spesdl Camvol h_hgﬂﬁﬁw:..._ i _& X
e gg_&ﬂ_wi& % r_.___[-;g_u_,{qu[ B __ = -
- .I.H'_ e B ———

| e>Beax.AR=Ac [ Apse is equiniaal] [Given BD- Lac]. .

Ao, we know Hhat BE =

£z / AEB =9D"

Tn Trnngle, A AE, by Py

agongy Theonew,

ge  [Amiude in equilateral A bisesks base].

e ——————
S e ———

B2 +ae*= ARS

| -y Agts ﬂi‘,ﬁf'ﬁj :
_,.(L})‘i.ﬂs: » (g2

q“l

-IT'I" ‘_"‘_T._

S AE"s Ve oy




New ,jn 2\ ADE, £E =Q0*

wSaral

=> 7AB'= qap2,

By Pystagonas Thesvem s 1}—?" ___._____ =
= _DEt. pEZ= AD® Aol
F B __ _@5._“)_-; 27x? j/f‘f!?h ol . o : :
ng @Jl! 1—;:——!: AD*- j ;
_ A e o @), B [
From @ and (B, L
P A= G2 apld= AT \ ___i - in,
- _ 7Ap*=gGix* = A L .

vEn, Sum of U oweecafive no. in AP s 32.

spabio _of tixt, (ferwlast) and dwe midde 1OM praduets 7:IS.

ek _wo.of leam® he n.
= s ar(i~Nd.

p'l'fi-_ -Eﬂml i“- g+ !h--] '_'i.

'Eh = ak rﬂ--'] ol -




..........

ySaral
11 1

As dhere gre dwo pidolle derms, w is e

=) ML%LE.&LM.J}A L:+-lh!r be O

Ler his be B-

att "‘.:F -H-pl‘m{n-n]ﬂ \\

: Crote = baulbhplyong \ -
ity I5a? +'-&En,-.lm.z.:zn.'t{!.5.’.‘,-_-
waly - Mnt A -
v 2

L A e dake pniy &




v

Sebstiteing @ in @D Jateqdt= 266 - T |
TR Cat=25C» o= IE;;HW“&J»,M‘;M&#JH‘* 13

"% Znesiia e ;.,,(_“:-.,‘._._'4;'._._*-;'!&" 42qad=0 - |
. nﬁ:.;. =5 T (@, | [‘lﬁ‘i'ﬂnﬁ- E"%ﬂd' _

& oud
Las : {.{'Q_.m_m_ . --1'= 3 _Il.lll - & #‘nlr




e e L e

29. Griven: ARBL, DL=Gem, AD=Cem, ZABC=ER™
o Apws A/ 2 sides of 4ABe .

B e S

— i ———

re toDownload eSaral App for ez
Class 10 | JEE | NEET |

Rough Diagnam.

Ll ™
Bt =6em
£ pal=en®
ArBD is paquinedt 4mangle.-
PB= B¢ ?*75 i,
BG = 4-5 ap.

(B~ u2g cm.

——r—— B -



https://urlzs.com/NqoXE

\/
¥Sa ral
14
; S 3 ekl | Seeron-¢ - P e P 3 _;_,J.*_
_ ) Givens  tan2d = cot (a-m), t:ﬂn__{t.g (28 & aced _- - _-_‘_
- (cheite 4) | o fndt: value of A 1. AN N

TN We know, Jan@: CoMA0-0) and -:n+9=+nnf‘lﬂﬂ_ h ".__

=\ | - ot (Qo-2a)= Cot (A-8) = ;
Y . Lf | 3
B o —— _ﬂ;ePiyiquni—_ . on, bodh, - sidles —_ B== . -

— il = C-24 =HA8:

L e = _lgg"aﬂ'. A - s LK =
— L ::h_..f!.!!.‘:__ sl 0y i
Judl. value of A jc 36" e = =

Fi
=

-;- p—— ﬁ}J Criven: olistmee (S IGO0 fepa,

-— _ | u’w mﬂﬂ_'!__ — :
WEERE @) We know , speact= Mistouce | Ml fies distane




10045

|

_ s(st6o2)

2000 =~
26 -

:"..I‘.ﬁ'ﬁﬂl'
=500 '[.'I‘I"WJ;D

-t

m:—-,ﬁmcﬂ '

et walbplyind,

cos 42 <2
] = 2l =l w -
. 30903 = 3000

L.‘ <2 41008 3208 %50

i

|

(5-5o0)(s1600) =@ -

“ <-Sppe=D

on

4 oo =0,

s 5= 500 km[h

=) S»

Soo ah rﬁﬂﬂ' h‘“‘
ot be

- c»-609 fem/fh:

flam - =
)-_é

| But spesd conm
=5 [The_usuat rpesd of the ian

e i’_ EDo kr“]u“'

1
—
f

kj'l Given, pelyn

6)

omial pl¥) = 2
ey = 24(8 and 2-3.

Tﬂﬂ Teno . I
=2 Product of Jwo T ﬂ o _

o4 _ard4Sxdiax-t:




'I|-|-

Dividing

; | 3 S
_ X=1 }?fq-"‘-!"-lr'h" +3x -1 {Ew’-?:“ghﬂ '
2x - 2% - GI - AvEal -
-M*4Sx® Aepis gt ¢
A ¥ Ted :
AR Y e, S L |
-2 wigd. :
R— [T F . S 7/__ . _— = - A T
=] L=
G
=3 By divisier aloanithim e ) o i SR ol ikl ad
_.F.&)_s_'[!h_l}_@n’_-. e _wat). .
Now, i " o e -
Sum of noots = =mefl.ofx? o R .
ool .of x?.
“The neots of gﬁ-‘} Au._lﬂﬁ,_r;%ﬂﬁ_ﬁ N o Sl
'_, o "' — R, fs . -_|.' T
= ;
: draz Z _/; s il -
e _ = T+ T which is Wente G zana 9of pl S
. . -k s | - i"' ""n.. Elr&
: ----—-I---:‘-lu--i:.|-|-"l||-|.II




=3/

Panduct of HCE ¢ Leme= g696% 4

= 3Cmy.

Hence, HeFx (et~ produck of fo rumbers:
——

__i — — I
Lz —




@hn.';c-: 2)

_--- — —S— ’-% ._ = " -
’ : CT = toen, AARD + gaea A BeP.

- Ventices of  Quaddiletersl ARCD.

A £5.7) ,Et'.'"’j.'_ﬁjrﬂ (~1.-¢), P(4,s)
| Anea of guad ABCD.

&

i!ﬂ:&d ABRD -

= 4 [ ’th-h}m{ﬁ-v.jw,(}.—v. AN,

| "3 [5E9 E9 et apan]

N —:_ [#’ Sot Stﬂﬁ/}
| = [so4as]

[ = ’:{'Iﬂﬁ-—ﬂﬂ" *
| = = Lnrbx™.

I| cnea A BED = ..;l;.,[x.

=t [~4tcq, E () + ﬁlgﬂﬁ%}

2y [44 -0 +4 o=
=5 Y3214 anils*.

adnilederal = Ared of 4o dnicn

Cra=¥a) 42, (Ys=; J %5 lYi=va ;} =

slaferal ABED s 72 8¢ Lnit

 wSaral

[voi 4o scale)
S Y

A 57)

oy
les. = 6319273 i,

18



Giwen: CGace [O,m). AP and PB
. ang dongents dnawm o the intle-
/Te prove: PA=PB.
Contiauchion: Join OA,08 and OF- -

Prook: 0A>08{Inadis] . (sicte).

| Lopp=2obp=99" [night angie): |

!

[ padis is porperdicular do \
Yangent ot point of conttet [,

of =of lfl-.-;rurﬂnuu]-
| Lo in LAOAP omdl ﬁ“i.h. N

by RHE cCongruency,
— HoAP & ADBR

by CEET,
=2 Ap= Bp.
heita  Phowved.




= pmmm nﬁ-ﬁ_q@m = - _

[ 3alory in Bousand Ry, | 5-lo __i-.::t_r 15-20 | 2045 | 2720 oy

-
_ = —E“_*LL_mm Bl im el =1 ¢ | 7
“a :r--- '—M %

T — _|_ he. .l;_F_melta 280.
— NS _'?.?..-g:.'-lﬁn _the If-fn"" kﬂm He;tj_n u:lq!:r imberual iq;E',_-

-

[
I SR U e maﬁfﬂn »::h_-w:_in.-_u:- ==

R — =10, hut, =133, L Mo, cf=4q9.

i S S

e pedianz 0% Mo -4
il H.E.‘. = —_—— ———d

Wl ___= Bty

— *\M‘_.uﬁ-ul _'{—bmqﬂnﬂf_nu.i:l!___[ s

o .. | e —— —




!!'- thi_.ﬂm'ﬁm! heap of mie: 2 e 4ot e S
T@aniu..ng | [imentions: diommelen = Itw, height 3:5 m. —npadiuy =\
3 © | Voluwe ofF come = .}gn’n!h ot unids - L5 L

l @ 9-%:!.5‘;1!13#!41?1{ CikeM. —
= = 132¢ 4 vl ol

= 2% Cd-wn. .
The yolume of fhe mice heop i3 S28 -
Anes of cloth nequired= Cuved woface cred.

Csh of cone
Finding £: £= Jhrn® wnin
=[55I "

isc-29

=

= [2-5m-

=7 £SA= Jnl gy urid
- %‘E.lltﬁh“ 12

- Ei‘r.l.;p_i 3300
- 7

470 At

=

) sgeunit  Where ..l-‘-..[';“tn* unife- C oy ol

The anea of Canvat cloth nequired




. 4 e =l 4
A : il ¢
Given. Squore ABCD. A AED and AAFE ane equiladenal. =ren
To prove: Anea ZAAFC = 2x Anen AAED. Q3 = 2ol
Condfnucton: Draw EFPLAD 4nd FQ § Ac c *“P i q =
Proof: Led side of souare be . =
=) wides of AAED=x b —
P - X =

In Afpc,B=q0" ~
=3Py f'rl-l-qauﬂ rem, R
Ar®s pciap =
Kexts A > ACe B, m siderod AWCar
We fomow, alfifude of enuilalers] A bisecH fhe bate.
= AQ = X
=FR=s <
In AAEP, Lp=5cP.

By Pyfhagonar  fheomens, AE%EP ;pp2.
wiie BpY (£

Epes a:_r_ye‘é 3.2
- 2
IH MFﬁaiﬁrﬂP‘f

By Pythagonag theoren, AC= Fgrraa?
&vts TRES 'i:

I

e Bt F:v.ﬁx'
¥a T—JJFT;







| We lwow i
» Anea of Jﬂlﬁhsk = J‘:-:'H Parex I‘lﬂiaiﬂ' 89 nd -

=> fAnea of A ARCS -k.u-ﬁn 5l
= :*lﬁ‘l%—x

S R
Anea of ﬂﬂﬁﬁt-l-#tt EI"*.
-+ A .
I‘

_ 2-gnea of AAED= :5_1‘ = Mrea of &ﬂFﬂ

hence quﬂl : ——

|| Anee of tuaie =5 =g-tenils

Griver: side of Syuese ADEP= (2o

-Tn' h‘ll'lﬂl MM_MA
Shaded
: onen & fnes & & gusdnardc = Anea of fQuUOde.

A .
nea of Quadndnt I,—r'n:l_ﬂuhﬁ!
"-I‘; w 1.0 E.\t{

"‘ﬁht!‘ﬂ'r 16/14- .26 ot




¥ ; ' AT : .. 1 .\\’ 2 3 I
| | . 8Saral
I
| =2 Shaded pren = Area of Syuware - “x(Anes of l'ennﬂnﬂrlj) S§amits —
B | = (44 - 4(22.. 3 '
— | — e —
: The anes of fhe shaded negion is 30.26 cm? | g
= _ hor - B J
= 1) Tileger, | 4o too. (betteen)
[} )l => dulals a8 possible cutcomer. |
i L) divicible by 8 = |2 pampers. (R.0C, 24, 22,40, 41,5, Lw,72, 40,42, G ¢) .
4 | =) Crobabilitys Favorable ouhome 12 G 0 2 % uoe
L = Total nﬁnn--ﬂ—_—//?, .
L = i) not Aivisible by e3> G8-12= 86 numbens- 53
| &4 ) =) Prubabilify= Tavonable outrome e |43
b *1 o Tetat otefcape .l - ‘.




"N =D Telal pickeame = 8-
‘a\fﬂ Foublet:  (1:),2.3), @*ﬂ, @y, (54, 6.0> & pomiilises.

. Papbabilty =  Fovonable osfrome C© _ | | |

= 3 6.
e =

i) Sumof 10 (®8), (6.%),(58 23 posasitifes
 Peobabildye  Fawnable ouftore J_,_-[J oll-2
(2 -

=
B Todal mdw:ru - I

Cm— e = = Y

: %) Sumot fnsk € bwibyplu of 3 o
Iﬁ (F\“ Forms an AF, &=3, of=3. nef-

j'l-’ ) Sumy = Sne

i

l"-!—__




I‘" 1 i L P : ; ! |
\ '
wSaral
ﬁ) Griven, mectangle ABes. AL . Y _ N 5 | ﬂ
l*-_'j E “'"-.ﬂ} ‘Dppaniie nder ave Equal. L f ud 4
1 ?Q') Lmh k*?:-!n -.nﬁ p Mrew, N A, |
81 [ | Xy =] -&@.
!, E: X=2). s 3 e B 1
| L Subsfifeling jn (), 224y=30 ki : -}
F',,'L & — : _ y=§- _r__-ll
r : : =3 |K;11!§-E.ﬁl J

_ V| Given: [2 is innabongy L3
15X @ Te prove: 5430 it Prafonal, ]
o [ L7 | Proof: Let us astume SH3G B Dahowol- So it is i Lo 2
- =) Saa-a 2
- &
= o= 4 o
& | - nabongt H
. _ 41 = E-:E_L This shous Hhat VI s +anedomad (a,-ﬂ_m 3h ane {ulest.qu»"
Sk SN But we krow thet ¥ is innakonal |
A 3p. Thi» adicl owr assupmphon Hat SH@x3 i natroned.
l_v::_ 5 =Y St is ixvabonal | hence proved . -




*F iy g ® il ¥
" i ’ P AR i
L - i TR . r -
- § M &
L i
¥ 1 L] ]
. F-¥  § 0 Fyga B A

Poirs A(2,3), B(6~3

 Le+ fhe pabo Lks.i:_.__




— Seehpn -A- Cir oL =t A

D

o AB_ 1 oafABe  Ard I _ 4 _
ra - 3 mnﬁﬁf P a* .&
|| Rate nE_n.uuLu_— e
Cotd(7°~ si.n‘z_s: — e i
|| =—tet¥T = forter” g = 4
 (Con€1 ¢ sin2d) Learr-sin2d) PR
=@are7 4 cat?) (Coter -cos67) [coro= sinGo-o)]. h
e T R Ll L= .
_L'Le_vnfuc. iz O I L is- =viy

hesdy, Qq=4. _E[Ls_:F‘m_-tm e - o
tan ad (nstd- L Stmdd s .3 e ——

don A (7-1) Co) ——= === == =
et GrGy) / - TP T

.MI-—_'.-'.__ e AR v — e

_ il




.l-":-l.-ll!hn-'l" e

i

—

Mﬂﬂ_pﬂmiil R

Smallest compotile = 4 >

ﬁ pf_w ;:.'P-rmlr._.n.nd Iﬂﬁﬂﬂt{nﬂpﬂﬂh I_ZI

) Y - J-i::ﬁ.ht-’rhll ma‘e 4

a

B £, & ~S—

—_

Sum = —:E - G2k k.

i

=3} ;-F_E:"'E’]_,ZJC

Value of ke is

Z Sa
f=2k, le=) _ e s






